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Please read each of the following instructions carefully before attempting questions.
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. There are EIGHT questions printed both in English & Hindi.
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. Candidate has to attempt FIVE questions in all in English or Hindi.
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. Question No.1 is compulsory. Out of the remaining SEVEN questions, FOUR are to be
attempted.
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. All questions carry equal marks. The number of marks carried by a question / part is
indicated against it.
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. Write answers in legible handwriting. Each part of the question must be answered in
sequence and in the same continuation.
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. Assume suitable data, if considered necessary, and indicate the same clearly.
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. Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left
blank in answer book must be clearly struck off.
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Re-evaluation / Re-checking of answer book of the candidate is not allowed.
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Discuss the underlying limitations of ‘Internal Rate of Return’ as a method of

capital budgeting analysis. (8)

ISt aote fEgmr i uw fBfdr F = F "Red & aater 77 fr safERa St
9T FHAT AT

There is a project proposal with the following pattern of cash flows :

Year Cash flows (%)
0 -50,000
1 1,45,000
2 -1,00,000
Calculate Internal Rate of Return (IRR) of the above project and comment on your
answer. (12)
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TH THhe J4TE (%)
0 -50,000
1 1,45,000
2 -1,00,000
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Examine the accounting concepts of ‘conservatism’ and ‘materiality’ and their

significance in the preparation of financial statements. (12)
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What is a trial balance? Describe its objectives. (8)
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“An auditor is a watch dog not a bloodhound.” Elaborate. (10)
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Discuss the advantage and limitations of ‘routine checking’. (10)
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4. Distinguish between ‘Business investigation’ and ‘Audit’. Briefly address the following

trends that are continuously shaping the audit industry:
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5. (a)

(b)

Artificial Intelligence and Robotic Process Automation
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Cyber and data security
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Shift from SOX compliance towards risk-based auditing (5+5+5+5)
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What do you mean by partial integration of agricultural income with non-

agricultural income? (5)
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X (age: 59 years) is an employee of a private limited company in Mumbai. He gets
%45,000 per month as salary. Besides, the employer provides a furnished housing
facility (house being owned by the employer) at concessional rate (fair rent of
unfurnished house: 1,28,000; rent of furniture: %1,29,00; rent paid by X:
%1,36,000); and medical allowance at the rate of ¥1,500 per month. The employer
provides sports club facility. A similar facility will cost X 317,000 per year.

Determine the net income and tax liability of X for the assessment Year 2021-22

after giving due consideration to the following particulars (assuming that he does

not want to opt for the alternative tax regime given by Section 115BAC) — (15)
R
Long-term capital gains in respect of commercial buildings 1,17,000
Long-term capital gains in respect of shares (non-listed) 1,10,000
Income from horse races (gross) 1,04,000
Winning from lottery (gross) 2,75,000
Expenditure on recovery of lottery prize 26,000
Interest from IFCI 18,000

Interest paid on capital borrowed for the purpose of investment

in bonds of IFCI 18,500



(a)

Interest on company deposit 2,08,200
Insurance premium paid on a joint life policy on the life of X

and Mrs. X (Since 2007) (sum assured: 5,90,000) 1,24,000
Mediclaim insurance on the life of X’s father 26,000

X (A1T: 59 ad) Has H UF Arzae forfiee Fuet &7 w3 g1 39 45,000 w97 iy
ATE a7 & &9 # Had g1 | T89% s@rar, Faer famdr a8 @t gatsa
ATy g (FF=RT & T aTar =9Y) &\ F2dl g (a9 &7 3=
fRerm: %1,28,000; wAT=T &1 e %1,29,00; TS gRT @A RAT =T
e %1,36,000); i fafwcar w=7 1,500 i 71 &t @< 71 Ao s
FAT ol AT TZTT HLAT 5| THT TG 0l G anra X 217,000 ST a9 R
Feferfea feaon u sf=a ff= w3 % are gt a9 2021-22 F forg v fi
9F AT 3T F AT FAeiieg % (Fg 999 g0 fF 98 9T 115BAC 3T &7 T8
FFfoT T FATEAT FT AT TE FAAT AT 2) -

]
ATIOISTS TAAT o Hae § SreehTersh GorRTd ATs 1,17,000
T & HFH § I Yot a1 (F-g=195) 1,10,000
EERERE PRGET) 1,04,000
AT | AT (THA) 2,75,000
AT TIERIT T age! ¥ AT 26,000
ATEUHHTATE H ST 18,000
ASTHRHTATE & FTST § (a9 6 3297 F ILTT AT TS GoiT
I FHTAT T TS 18,500
FOAT STHT I TS 2,08,200
T 3T ATHAT T (2007 ) F e 9% U §Jh
Strae Fiferet a¥ sprar 6T @ ST fifeem
(Frar =rfar: 25,90,000) 1,24,000
X % a7 % sfe= 97 afewew 26,000

What is the accounting treatment of asset forfeited under hire purchase system due

to non-payment of instalment in the books of Hire Vendor? (5)



(b)

(©)

(a)
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On 1* July 2016, a company purchased a Plant for 2,00,000. Depreciation was
provided at the rate of 10% per annum by the Straight-Line Method on 31
December every year. The firm decides on 1.1.2018 to change the method of
depreciation to the Diminishing Balance Method @ 15% p.a. with effect from 1%
July 2016 and to make adjustment for arrears of depreciation in the year 2018. On
1.7.2019, the Plant was sold for 21,20,000. Prepare a ‘Plant Account’ from 2016 to
2019. (15)
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TETH ToRT T 9T " H F 1.1.2018 & (1 S[ETE 2016 | TATET) eag™ &t fafer r
FTEAT AW fAfer @15% fa a9 # agae &1 o form ofiw a9 2018 # goag™ &
THTAT F FHTIIST F44 & forg w2t fBFam 1.7.2019 &1 8593 &1 1,20,000 =97 &
=T fo T T 2016 T 2019 T TIE GTAT S0

What are the underlying assumptions of Cost-Volume-Profit Analysis? (5)
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The current market price of an equity share is 95. The expected dividend per share
is 5. The dividend is expected to grow at the rate of 6% p.a. Calculate cost of
equity capital. Also calculate market price of the share at the end of years 1 and 2

assuming constant growth rate of dividend. (10)

U ST 9 AT HISET AT goF 295 81 I 9 srfara arsier I5 ) aArsier
6% T AT T TT | T&A 0l ST g| STehel GoiT il AT hl TUAT Y| ATHILT
A gig T a9 a9 1 377 2 % 3d | 93 F FTI1 GoF i TUET F3)

Address briefly factors affecting determination of working capital requirements.

Fraefier S sasadhars & Hgior & TA7Ed Fd arol FICHl & G999 |
EENE LR ®)

What is the role of Customs in International Trade? (8)
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(b)

Explain the following:
FReferfeaa i samean #3
(1) Letter of credit
SUCKRE]
(i1) Bill of lading
e fae
(ii1) Shipping Bill
farfer faer
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